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	Vocabulary
	Define the following words that were included in today’s lesson:

biomass-
trophic level-


	Writing for Credit

	Give at least one example of each of the following trophic levels that exists on our school grounds.  Place these appropriately in the pyramid to the right.

Producers:

Primary consumers/herbivores:

Secondary consumers:

Tertiary consumers:



	Connections to  Learning
	What prior knowledge made today’s lesson more meaningful?  What did you know already? (“Free write” in this area.)



	Summary
	Summarize today’s lesson:  What occurred?  What did you learn?



	Practice
	What do you still need to study/practice/reinforce? (You MUST write something here.)




Practice and Application Questions
	1.  _____

	1.  All of the following statements about the pyramid of biomass are correct EXCEPT:

     1. The base of the pyramid generally represents primary consumers.

     2. The amount of biomass at a particular level of the pyramid depends on the amount of energy available.

     3. Certain toxins tend to become concentrated at upper levels of the pyramid.

     4. Biomass pyramids tend to vary for different ecosystems.

	2.  _____
	2.  Which of the following best explains why there are seldom no more than five trophic levels in a food chain?

     1. Most carnivores function at more than one trophic level.

     2. Top carnivores are too few in number to prey effectively.

     3. The ecosystem contains too much biomass.

     4. Too much energy is lost between trophic levels to support more levels.

	3.  _____
	Use the figure below to answer questions 3-5. Examine this food web for a particular terrestrial ecosystem. Each letter is a species. The arrows represent energy flow.
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3. Which of the organisms is most likely to be located at the apex of the pyramid of biomass?      (Answer with the appropriate letter from the diagram.)


	4.  _____
	4.  All of the following statements about the diagram are correct EXCEPT

     1. B is an herbivore.

     2. Only two trophic levels are depicted.

     3. B and C are at the same trophic level.

     4. A is a producer.

	5.  _____
	5.  The trophic levels of a community refer to which of the following relationships between species in the community?

     1. The relative biomass of each organism in the community

     2. The feeding relationship between organisms in the community

     3. The amount of genetic relatedness that exists between organisms in the    community

     4. The relative number of each type of organism within the community
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